

S17-6
GR-FEB

Page: 1 of 2

Northern Trailer and Truck
 2210 - 19 Avenue
 Wainwright, AB T9W 1L2, CA
 parts.northerentrailer@gmail.com
 780-842-0080



Invoice: 12671
 Date: 12/6/2024

Bill To
 Cutting Edge Ventures
 Box 2909
 Wainwright, AB T9W 1S8, CA
 P: 780-842-0624

Ship To
 Cutting Edge Ventures
 Box 2909
 Wainwright, AB T9W 1S8,
 CA

Service Order	Terms	Due Date	Authorizer	Customer PO	Service Writer	Unit #
7529	COD	12/6/2024	Will Challenger		Cornish, Shane	28

Item	Description	Quantity	Rate	Amount		
PM: CVIP Trailer 3 Axle 24 Wheeler - CV8254424						
Cause: Customer request Type: Preventive maintenance						
(PM)						
Labor	Correction: Semi Trailer / PM Inspection and Maintenance / CVIP as per ROI Remove Outside wheels, drums. Measure Brake shoes, drum thickness, Inspect S Cams and bushings. If possible remove inside dust shields to measure Install drums and wheels Torque wheels to OEM Spec Adjust All Brakes to OEM Spec * If unable to remove dust shields to attain measurements of inside brake drums and shoes, inside wheels must be removed as well	8.00000	\$130.00	\$1,040.00		
**Several of the dust shields are missing upper or lower halves, but the bolts are broken off and would require drilling out and repairing to be able to mount the dust shields - customer may want to look at bringing in and looking at in future when time - Completed: 12/4/2024						
Parts	5/16" X 3/4" NC GR8. BOLT - GR8NC51634	1.00000	\$0.11	\$0.11		
					Subtotal	\$1,040.11

Complaint: Welding Repairs
 1. RH landing leg bracket cracked
 2. LH landing leg bracket cracked

Cause: Unknown **Type:** Unscheduled repair
 (Inspection)

Item	Description	Quantity	Rate	Amount
Labor	Correction: Semi Trailer / Body and Frame Components / Welding Repairs 1. RH landing leg bracket cracked 2. LH landing leg bracket cracked	0.00000		\$0.00
	Both marked with paint marker. - Completed: 12/4/2024			
			Subtotal	\$0.00

Unit: 28 VIN: 2A9LB60681N125300	Labor	\$1,040.00
License Plate: 5RY967	Parts	\$0.11
2001 Gerry's 24 Wheel Lowboy	Shop Supplies	\$62.40
Truck Chassis: 16,400 Kilometers	Pre-Charge Subtotal	\$1,102.51
	GST	\$55.13
	(5% of \$1,102.51)	
	Total	\$1,157.64
	Payments & Credits	\$0.00
	Balance Due	\$1,157.64

WE ACCEPT DEBIT AND CREDIT CARD PAYMENT

I hereby authorize the above repair work to be done along with the necessary material and hereby grant you and/or your employees permission to operate the vehicle described for testing and/or inspection.

Express mechanic's lien is hereby acknowledged on above vehicle to secure the amount of the repairs there to.

All parts removed will be discarded unless instructed otherwise: save all parts ____.

NORTHERN TRAILER AND TRUCK SALES LTD. IS NOT RESPONSIBLE FOR LOSS OF OR DAMAGE TO VEHICLES OR ARTICLES LEFT IN VEHICLES IN THE CASE OF FIRE, THEFT, OR ANY OTHER CAUSE.

NORTHERN TRAILER AND TRUCK SALES ASSUMES THE RIGHT TO CHARGE 2% ON ANY INVOICE OUTSTANDING OVER 30 DAYS.

Northern Trailer and Truck
 2210 - 19 Avenue
 Wainwright, AB T9W 1L2, CA
 northerntrailerandtrucksales@gmail.com
 780-842-0080



Invoice: 9770

Date: 11/30/2023

Bill To
 Cutting Edge Ventures
 Box 2909
 Wainwright, AB T9W 1S8, CA
 P: 780-842-0624



Service Order	Terms	Due Date	Authorizer	Customer PO	Service Writer	Unit #
6099	COD	11/30/2023	Bill Plaxton		LaPierre, Zane	28

Item	Description	Quantity	Rate	Amount
PM: CVIP Wheeler 3 Axle - CV8009850				
Cause: Customer request				
(PM)				
Labor	Correction: Semi Trailer / PM Inspection and Maintenance / CVIP as per ROI Remove Outside wheels, drums. Measure Brake shoes, drum thickness, Inspect S Cams and bushings. If possible remove inside dust shields to measure Install drums and wheels Torque wheels to OEM Spec Adjust All Brakes to OEM Spec * If unable to remove dustshields to attain measurements of inside brake drums and shoes, inside wheels must be removed as well - Completed: 11/29/2023	9.00000	\$130.00	\$1,170.00
Parts	CHEVRON DELO STARPLEX EP2 GREASE (PER TUBE) - 25911810-1TUBE	1.00000	\$6.54	\$6.54
			Subtotal	\$1,176.54

Complaint: REQUIRED - Light Repairs

Cause: Lights Out

(Inspection)

Labor	Correction: Semi Trailer / Lights and Electrical Wiring / Light Repairs	0.80000	\$130.00	\$104.00
	1. Forward swing lights seized - Free up			
	2. Rear swing arm lights out both sides - Lights were unplugged			
	3. RH middle clearance no turn signal - Pigtail rotten out - Remove and replace pigtail, test - Good			
	4. Flasher lights not working (switch does nothing) - Hook up trailer cart and LH side started working, RH side would only work sometimes if you smacked it - Remove light found rotten pigtail ends, change and rechecked - Light good - Completed: 11/29/2023			
Parts	BLUE HEAT SHRINK BUTT CONNECTOR - 83-2350-1	6.00000	\$1.02	\$6.12
Parts	3 WIRE PIGTAIL 11 D.C. - 67002	1.00000	\$4.75	\$4.75
			Subtotal	\$114.87

Complaint: REQUIRED - Air Leak Repairs

Item	Description	Quantity	Rate	Amount
Cause: Leaking				
(Inspection)				
Labor	Correction: Semi Trailer / Air Brake System Components - Lines/Fittings/Valves / 1. #2RH QR valve broken - Remove and replace - Had to replace airlines, were worn through	5.00000	\$130.00	\$650.00
	2. #1RH inner brake pot leaking - Remove and replace - Had to torch off, was seized			
	3. #1LH QR valve broken - Remove and replace - Replace airlines, were rubbed through - Completed: 11/30/2023			
Parts	QR1 QUICK RELEASE VALVE - FBC-OR229859X	1.00000	\$28.50	\$28.50
Parts	TYPE 20 SERVICE BRAKE CHAMBER - F20SC	1.00000	\$47.98	\$47.98
Parts	QR1 QUICK RELEASE VALVE - FBC-OR229860X	1.00000	\$26.50	\$26.50
Parts	3/8" HOSE SLEEVE - 1490-6	5.00000	\$1.23	\$6.15
Parts	5/16" X 1-1/2" NC GR8. BOLT - GR8NC516112	4.00000	\$0.42	\$1.68
Parts	3/8" MPT X 3/8" HOSE END WITH SPRING - 1493-6C	6.00000	\$7.79	\$46.74
Parts	5/16" GR8. FLAT WASHER - GR8FW516	8.00000	\$0.09	\$0.72
Parts	3/8" RUBBER AIR BRAKE HOSE BULK - 11-8180-250	10.50000	\$2.75	\$28.88
Parts	1/2" NPT X 3/8" HOSE END WITH SPRING - 1493-6D	2.00000	\$9.49	\$18.98
Parts	5/16" NC GR8. NYLOC NUT - NYLOCKNC516	5.00000	\$0.12	\$0.60
Parts	3/8" 90^ STREET ELBOW - X115-C	1.00000	\$4.25	\$4.25
				Subtotal \$860.98

Complaint: REQUIRED - Rotten Wheel Studs To Be Replaced

Cause: Rusty/Rotten

(Inspection)

Labor	Correction: Semi Trailer / Wheel End and Axle Assembly - Dustshield / Spindles / Hubs / Wheel Studs / Bearings & Seals / Hubcap / 1. #3RH outer wheel studs starting to get rotten - Remove and replace - Completed: 11/29/2023	0.80000	\$130.00	\$104.00
Parts	WHEEL STUD M22 X 1.5" RH - FBC-13-1572	10.00000	\$7.49	\$74.90
Parts	UNIMOUNT FLANGED WHEEL NUT M22 X 1.5" - 13-3052Q	1.00000	\$5.40	\$5.40
				Subtotal \$184.30

Complaint: RECOMMEND - Clean #3RH S-Cam

Cause: Packed With Mud

(Inspection)

Labor	Correction: Semi Trailer / Air Brake Mechanical Systems - Drums/ Shoes/ S Cams/ Slack Adjusters / Brake Chamber / #3RH S-Cam Head roller starting to creep off from mud packed into it - Clean s-cam head - Completed: 11/29/2023	0.00000	\$0.00

Complaint: REQUIRED - #1RH Inner S-Cam Sticking

Cause: Sticking

(Inspection)

Labor	Correction: Semi Trailer / Air Brake Mechanical Systems - Drums/ Shoes/ S Cams/ Slack Adjusters / Brake Chamber / #1RH Inner S-Cam Sticking - Work s-cam free - Completed: 11/30/2023	0.30000	\$130.00	\$39.00
-------	--	---------	----------	---------

Item	Description	Quantity	Rate	Amount
			Subtotal	\$39.00

Complaint: REQUIRED - Inflate Tires To Rated PSI.

Cause: Required

(Inspection)

Labor	Correction: Semi Trailer / Wheels and Tires - Tire and Rim / Air Inflation Systems / Inflate tires to rated psi	0.30000	\$130.00	\$39.00
--------------	---	---------	----------	---------

INSIDE

- #3RH inner at 40 psi
- #2LH outer at 40 psi

OUTSIDE

- #2RH outer at 70 psi

****Inflate all tires to 100 psi - Completed: 11/29/2023**

Subtotal	\$39.00
-----------------	----------------

Unit: 28 VIN: 2A9LB60681N125300

Labor \$2,106.00

License Plate: 5RY967

Parts \$308.69

2001 Gerry's 24 Wheel Lowboy

Truck Chassis: 11,805 Kilometers

Shop Supplies \$126.36

Pre-Charge Subtotal \$2,541.05

GST \$127.05
(5% of \$2,541.05)

Total \$2,668.10

Payments & Credits \$0.00

Balance Due \$2,668.10

WE ACCEPT DEBIT AND CREDIT CARD PAYMENT

I hereby authorize the above repair work to be done along with the necessary material and hereby grant you and/or your employees permission to operate the vehicle described for testing and/or inspection.

Express mechanic's lien is hereby acknowledged on above vehicle to secure the amount of the repairs there to.

All parts removed will be discarded unless instructed otherwise: save all parts _____.

NORTHERN TRAILER AND TRUCK SALES LTD. IS NOT RESPONSIBLE FOR LOSS OF OR DAMAGE TO VEHICLES OR ARTICLES LEFT IN VEHICLES IN THE CASE OF FIRE, THEFT, OR ANY OTHER CAUSE.

NORTHERN TRAILER AND TRUCK SALES ASSUMES THE RIGHT TO CHARGE 2% ON ANY INVOICE OUTSTANDING OVER 30 DAYS.

Northern Trailer and Truck
 2210 - 19 Avenue
 Wainwright, AB T9W 1L2, CA
 northerntrailerandtrucksales@gmail.com
 780-842-0080



Invoice: 7160

Date: 11/24/2022

ENTERED

Bill To

Cutting Edge Ventures
 Box 2909
 Wainwright, AB T9W 1S8, CA
 P: 780-842-0624

Service Order	Terms	Due Date	Authorizer	Customer PO	Service Writer	Unit #
4485	COD	11/24/2022			Cornish, Shane	28

Item	Description	Quantity	Rate	Amount
------	-------------	----------	------	--------

PM: CVIP Wheeler 3 Axle
 CV7681783

Cause: Customer request

(PM)

Labor	Correction: Semi Trailer / Inspection / CVIP as per ROI - wheels on inspection Remove dust shields to inspect and measure brake shoes, drums, s cams Measure all tread depths and tire pressures Torque checked all wheels to 475 ft lb. Adjust All Brakes to OEM Spec. Grease Chassis - Completed: 11/23/2022	12.00000	\$123.00	\$1,476.00
Parts	EP2 Grease Unirex - 122123	2.00000	\$7.50	\$15.00
			Subtotal	\$1,491.00

Complaint: Live Roll - Left side airbag is blown - requires replacement

Cause: Customer request

(Inspection)

Labor	Correction: Semi Trailer / Auxiliary System / Live Roll - Left side airbag is blown - requires replacement Removed & replaced airbag. Tested operation of airbag & checked for leaks. - Completed: 11/23/2022	0.80000	\$123.00	\$98.40
Parts	SP557800 - Air Bag (Lift Roller)	1.00000	\$299.95	\$299.95
			Subtotal	\$398.35

Complaint: Required

Light issues.

1. RH rear swing out arm rear light wrong colour.
2. License plate light not working.
3. LH strobe light has less then 50% LEDs working

Cause: Unknown

(Inspection)

Item	Description	Quantity	Rate	Amount
Labor	Correction: Semi Trailer / Lights and Electrical / Required Light issues. 1. RH rear swing out arm rear light wrong color. - Replace lamp Replaced light for correct color 2. License plate light not working. - Tested pigtail. OK - Replace lamp. Replaced lamp 3. LH strobe light has less then 50% LEDs working - Replace lamp. Replaced light. Tested lights. - Completed: 11/23/2022	0.30000	\$123.00	\$36.90
Parts	2.5" Red LED Marker Light - FBC-LED2500-13RP	1.00000	\$6.95	\$6.95
Parts	4" Amber Strobe Light - 77353	1.00000	\$90.0018	\$90.00
Parts	Incandescent License Light (15208) - FBC-15200C	1.00000	\$4.90	\$4.90
			Subtotal	\$138.75

Complaint: Required repair
Air leak at LH Air tank fitting
Emergency line behind gladhand

Cause: Fitting seal worn out

(Inspection)

Labor	Correction: Semi Trailer / Air Brake System / Required repair Air leak at LH Air tank fitting Removed & replaced fittings. Tighten fitting on gladhand. Checked for leaks. - Completed: 11/23/2022	0.80000	\$123.00	\$98.40
Parts	1/4" Ball Valve - BV2103-B	2.00000	\$12.95	\$25.90
Parts	1/4" Hex Nipple - 122-B	2.00000	\$1.25	\$2.50
			Subtotal	\$126.80

Complaint: Required repair
Sticking s-cam #1 RH inner

Cause: Unknown

(Inspection)

Labor	Correction: Semi Trailer / Air Brake System / Required repair Sticking s-cam #1 RH inner - Greased s-cam bushings and slack. - Backed off brake for full s-cam travel. - Worked brakes until s-cam was freed up. - Set brake. - Completed: 11/23/2022	0.60000	\$123.00	\$73.80
			Subtotal	\$73.80

Complaint: Recommend.
Cracks in 3 of the crossmembers
Cracks by the rear lift rollers

Cause: Cracked

(Inspection)

Labor	Welding Repair - Wainwright Welding and Machine	1.00000	\$250.00	\$250.00
			Subtotal	\$250.00

Complaint: MONITOR
#1 LH inner, frame side tire sidewall

Item	Description	Quantity	Rate	Amount
Cause: Getting Worn				
(Inspection)				
Labor	Correction: Semi Trailer / Wheels and Tires / MONITOR #1 LH inner, frame side tire sidewall - Completed: 11/23/2022	0.00000		\$0.00
			Subtotal	\$0.00
Complaint: Require Repair				
Grease line broken				
Cause: Unknown				
(Inspection)				
Labor	Correction: Semi Trailer / Brake System / Grease line broken - #2 RH inner, inner s-cam bushing line broken. - R&I grease line. - Grease s-cam bushing. - Completed: 11/23/2022	0.80000	\$123.00	\$98.40
Parts	24" Grease Whip - GWR-3-24	1.00000	\$14.50	\$14.50
			Subtotal	\$112.90

Unit: 28 VIN: 2A9LB60681N125300

Labor \$2,131.90

License Plate: 5RY967

Parts \$459.70

2001 Gerry's 24 Wheel Lowboy

Shop Supplies \$94.10

Truck Chassis: 10,734 Kilometers

Pre-Charge Subtotal \$2,685.70

GST \$134.28
(5.0000% of \$2,685.70)

Total \$2,819.98

Payments & Credits \$0.00

Balance Due \$2,819.98

WE ACCEPT DEBIT AND CREDIT CARD PAYMENT

I hereby authorize the above repair work to be done along with the necessary material and hereby grant you and/or your employees permission to operate the vehicle described for testing and/or inspection.

Express mechanic's lien is hereby acknowledged on above vehicle to secure the amount of the repairs there to.

All parts removed will be discarded unless instructed otherwise: save all parts _____.

NORTHERN TRAILER AND TRUCK SALES LTD. IS NOT RESPONSIBLE FOR LOSS OF OR DAMAGE TO VEHICLES OR ARTICLES LEFT IN VEHICLES IN THE CASE OF FIRE, THEFT, OR ANY OTHER CAUSE.

NORTHERN TRAILER AND TRUCK SALES ASSUMES THE RIGHT TO CHARGE 2% ON ANY INVOICE OUTSTANDING OVER 30 DAYS.

Northern Trailer and Truck
 2210 - 19 Avenue
 Wainwright, AB T9W 1L2, CA
 northerntraileralndtrucksales@gmail.com
 780-842-0080



Invoice:

3714

Date:

5/13/2021

Bill To
 Cutting Edge Ventures
 Box 2909
 Wainwright, AB T9W 1S8, CA
 P: 780-842-0624

Service Order	Terms	Due Date	Authorizer	Customer PO	Service Writer	Unit #
2500	COD	5/13/2021	Brent Woodward		Cornish, Shane	28
<hr/>						
Item	Description			Quantity	Rate	Amount
Complaint:	Air valve leaking constantly			0.80000	\$115.00	\$92.00
Cause:	Unknown					
Labor	Correction: Semi Trailer / Inspection / Air valve leaking - Replaced sealco supply air valve for live roll. - Aired up unit and checked valve for leaks. - No leaks present - 5/13/2021			1.00000	\$115.00	\$115.00
Parts	SEALCO RELAY VALVE - 110410			2.00000	\$0.405	\$0.81
Parts	5/16"x2" GR 8 Bolt - 079-451			2.00000	\$0.20	\$0.40
Parts	5/16" Pozilox Nut - 108-016				Subtotal	\$208.21

ENTERED

Unit: 28 VIN: 2A9LB60681N125300

License Plate: 5RY967

2001 Gerry's 24 Wheel Lowboy

Truck Chassis: 0 Kilometers

Labor \$92.00

Parts \$116.21

Shop Supplies \$3.68

Pre Tax Total \$211.89

GST (5.0000% of \$211.89) \$10.59

Total \$222.48

Payments & Credits \$0.00

Balance Due \$222.48

WE ACCEPT DEBIT AND CREDIT CARD PAYMENT

I hereby authorize the above repair work to be done along with the necessary material and hereby grant you and/or your employees permission to operate the vehicle described for testing and/or inspection.

I hereby authorize the above repair work to be done along with the necessary material and hereby grant you and/or your employees permission to operate the vehicle described for testing and/or inspection.

Express mechanic's lien is hereby acknowledged on above vehicle to secure the amount of the repairs there to.

All parts removed will be discarded unless instructed otherwise: save all parts _____.

NORTHERN TRAILER AND TRUCK SALES LTD. IS NOT RESPONSIBLE FOR LOSS OF OR DAMAGE TO VEHICLES OR ARTICLES LEFT IN VEHICLES IN THE CASE OF FIRE, THEFT, OR ANY OTHER CAUSE.

NORTHERN TRAILER AND TRUCK SALES ASSUMES THE RIGHT TO CHARGE 2% ON ANY INVOICE OUTSTANDING OVER 30 DAYS.